. Section 1
St Catherine’s School Equations and Formndae
Waverley

1. Solve the following:

a) 1245p=2p—-0
Year: 10

Pathway: A/B/ C -

Time Allowed: 55 minutes
Date: August 21st 2008

By B—2(x—4)=4x+9

o
Name: J . /
Teacher \ : , —

\ i S5x+3 N 1—-2x
' © 7 3
Directions to students: TEACHER’S USE ONLY /
Total Marks
* Allquestions are fo be attempled. ’
+ Not all questions aie of equal value, Section 1 a 2a+1 at4d 6
- 3 2
*+ All necessary working must be shown in every question, ;
*» Full marks may not be awarded for careless or badly Section 2
afranged work.
* Answer questions in the space provided. TOTAL —

+ Approved calculators may be used,

i



6. Sol{'e the following:

2. Make y the su‘ojectAiu mxtay=bh . 2 2x+y=T .- @ 2
0 ) ' ﬂ) x Y= 2 ‘@
/7
3. Given C=a" —4find: b)  y=2x+3 and x+y=12 ' 2
n} the value of Cwhen a=7.8 1
e —
// .
3a— b=11 3
b) the yalue of a when C=10.5161 2 9 2a—73b =12\
4, The length of a rectangle is three more than three times its width. 3 ) Y] At the Paris cinéma it costs $105 for 5 adults and 4 3
The perimeter of the rectangle is Sdem. children while it costs $90 for 3 adults and 6 children.
Form an equation and solve it to find the dimensions of the rectangle.

Form equations and solve fo find the cost of a child’s ticket

/



Secetion 2 Trigonometry

5. Solve by factorising:
2 s
) ¥ +6x=0 2 1. Find the size of angle P io nearest degree
: AT e
P
9m (
. Q
6m 1
) \
'.
by 2x" —7x+3=0 \ 2 ;
! , \
2. Find the size of angle C to the nearest minute
bl
. : ) 16m
’ ; A B
¢) Solve using the formula: 3
t
22" 4 x—-4=0 (leave answers as surds) ) "1
17 20 m




N . Georgia Is standing on the beach [ooking
} outto sea. She sess Lesatalighthouse L ona
bearing of 045 T and Jim on a jet skiJata
bearing of 125 T.
The jet ski is due south of the lighthouse.
4) Show that ZLGJ =80" and 2
£ GLY=45°

b} Georgia knows she is 3 km from the 3

lighthouse, How far is she from the jet ski?

(a

Not to Scale ]

n

nswer in km to 1 decimal place)

Samantha stands at the viewing platform of Centrepoint Tawer 295 m abave the ground.

She sees Gwen who is at ground level.
16°40'.

Sam finds the angle of depression of Gwen to be

a) Draw a diagram showing this information . 1
b) Caleulate the distance from Gwen’s feet to the base of the tower. 3

(answer 1o the nearest metre)

5, For the figure below find a) the length AC to the nearest mm
) the area of A ABC to nearest cm”

(#5)



. Section 1
St Catherme’s SChOOl Equations and Formulae
Waverley

1. Solve the following:
) 124-5p=2p-9

Year: 10 - Sp-2p=~9-12
Pathway: A/B/C - & =2l /
Time Allowed: 55 minutes a

Date: August 21st 2008

B 8-2x-4)=dx+9
N B-Zx+8 = et
DG < G+
Name: l \_‘5‘04 uTions _ -3 ey - T -1E

" 7 2
XFZ- _
Teacher \ HAS TR Cm - | =
Voo

e
Sx+3_I-2x
o 773
ez > PU-2G)
15x+9 > ‘7—[‘;75
1Sy llere =7
. —_" S 292 >-2 / 3
Directions to students: TEACHER’S USE ONL3} o2
X Total Marks =z
+ Al questions are fo be attempled. ;
+ Not all questions are of equal value. Section 1 / l [ > @ 2+t a+4 -6
1t '
+ Al necessary working must ba shown in every question. 2/ zzz,i /S g% arty < 2L
*» Full marks may not be awarded for careless or badly Section 2 dotd -3al7 = 3L
arranged work. ' ‘ \3
+ Answer questions in the space provided., TOTAL dolo -2k
+ Approved calculators may be used. 4= 46
N &
0




2, s =h .
Make y the subject in mx+ay 2 s, Solve by factorising;

ﬂ% = b= X
7?5 boine / %‘ ; ay X +6x=0

@
(Xxte) =

S Xe 0 o X7 b

4
/

3. Given C=a® -4 find:

a) the value of C when e =7.8 1
=787 , .
= éo‘é"#_ — / ) b) 2x*=Tx+3=0
Ay
= 568
2" G- xt3 20
b) the value of g when C=10.5161 2 i
2 B
a4 = (0-5(6t 2x(x-3)-(x-2) »0 /
2
AR STV - ) =
P / } (-2} (2o () =0
A-S(E] \/ Lx=2 ar 2X-170
* £ 3.8} Zoe=
4, The length of a rectangle is three more than three times its width. 3 =t
The perimeter of the rectangle is S4em. ’ 2 b
. = T l?g'-m
¢) Solve using the formula: o

Torm an equation and solve it to find the dimensions of the rectangle.

2x% + x—4 =0 (leave answers as surds)

. _M—p%}/fﬁ =Sl 2(spce3) +2x =<4

/

PRIXZ
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%’6?’;@ sace= SE-f
= g J1-{-32)

M CoetG -2 =S¢ 2
7 o=l NP g av-¢)
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e e = 44 i
= 1% T2z
% w=( —r=
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6. Salve the following:

2x+y=T .- @
x —y=2 @

=ity @

stilettete @& crle (71

2

Sebtiente gyt inte (O

2(2tgley="7

xri=7
2% 6

[TV R 7 7

?g}—::'g —= H={

X3 /
\ 23 4#:;%/

b)
b= 2004 5 . @
X‘f'y =12 (D

Gubstitute O it

C y=2x+3 and x+y=12

2

Spbcbtictr =7 ita

TAEZoce2 — (2 /
2432 =(2

(&)
ngs!z /

Iy /

=B

=7
'.)(”5,&,«:? /

3a—-b=11 ...¢(p
c)

da-z2L =283 - ©

3
2a-3=12 @ o2q-2b= 2 ---@ /

O - &
74, = 2 et a
4.-3 dp =2 / /
B3 by br-2. /
Grlo=yqy N - Y
d}

At the Paris cinema it costs $105 for 5 adults and 4
children while it costs $90 for 3 adults and 6 children.

3

Torm equations and solve to find the cost of a child’s ticket

Sa ¢ = (05 -

@ y T
Batlpe 90 @ / Spebttitinty Az 75 At &)
2q ¢ X790

B30L6¢ =90

2= J90-864

a.- j0-62 - (2}

e
subiitiuts, @)k @

Jo-6C -
S{90EE ) rea =tos
5(90-60) 140 =os

>
(40 -bo) #(2¢ = AT
&5 3na ei20 =~ 3¢5
—{%a = S 45

~FC = ~3T
4 &= _J_%_é’_
(43

a= %75

24445 =40
Ri= €5
Ho= 15

LA clld Botret Coste ys—u ezt

et &6 ambrere

Section 2 Trigonometry

1. Find the size of angle P fo nearest degree

Pe

-40°
61m

ibm
A

20m

sin@ _ Smlo’

G 7
sn@ = &S D
q
= 0.42%c285 .-

& = s (0w d

T 25 ( neavor degieg)

o

2, Find the size of angle C to the nearest minute

@ 2 2
qi1b ¢
eps 0 = '~
24k
0Pl 716
24 20x17
= £33 /
oso
= aos"' @33)
=]
T 506900 -

5027’ { neasest fi!:m«:f’e)



5. For the figure below find a) the length AC to the nearest mm
b) the area of A ABC fo nearest cm®

N N Ceorgia is standing on the beach looking

out to sea. Shesees Les at a lighthouse L ona

bearing of 045 T and Jim on a jet skiJ ata

bearing of 125 T.

The jet ki is due south of the lighthouse.

) Show that £LGY =80" and 3
ZGLI=45°  gince 2 NalL = 46° (given)
- « ALY s (e LS, NS LT

Ce e LAT = ANRT - A NGL

= (25745 L) ’
- 30 /
b) Georgia knows she is 3 km from the 3 A % |,

lighthouse, How far is she from the jet ski?
(answer in km to 1 decimal place)

12em 17cm

4 l?z-—- 1254 172 2% [2x 17 x £0510 g

. . 2
Mot to Scale SnksT  siase
' e - 569.0784%37- -
Xoe B EALS Ip = 23 bHEC -
e / ' vt /
= . 55qben e S tegthef G T 236 mm ( wpprpof mm)
= 26 kmfldp) ) Neasfarsnd
d, = —-rﬁx (2% {7 x5ml0g
Samaniha stands at the viewing platform of Centrepoint Tower 295 m above the ground. . .
She sees Gwen who is at pround level, Sam finds the angle of depression of Gwen to be = fozxsiqleg
19%0". . 47
&) Draw a diagram showing this information 1 COUI76 - - -
b) Calculate the distance from Gwen’s feet tothe base of the lower. 3 B . /
= 97 em™ (neacse WZ)

{answer 1o the nearest metre)

b 4ua 1760’ = A5 /
M
g 285 \/

B TY A

L P A-RE Y i< A
= ¢25m (heﬁ’ﬁv‘mm)

oo Bute [r sthding §2EM (Mt a2t ) dulder
AP e Cose 0 Ao Corver,
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